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Question1 (12 points)

Find the exact value of

a) log(cos22.5°—sin22.5°) +1log(cos22.5°+sin 22.5°)  [Give the answer only in terms of log]

Solution
V2

log(cos22.5° —sin 22.5°) + log(cos 22.5° + sin 22.5°) = log(cos* 22.5° —sin* 22.5°) = log(cos 45°) = logT

b) sin112.5°

1+Q
sin112.5°=sin67.5°=,/ﬂ:—/1+COS45 =_ 2 =\/2+\/§=_\/2+\/E
2 2 2 4 2

c) 2sin2§+cosx—1

1—cosx

2sin2§+cosx—1:2( )+cosx—1=1-cosx+cosx—1=0

d) sin15°cos75°

2-43

4

1—cos30° _
2

sin15°¢0s75° = sin15°sin15° = sin> 15° =
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2
2



Question2

If tang:—é,ﬂ<¢9<3—” , then find tan@.
2 4 2

tang = J_r‘/l_ cos0 = —é,square each side
2 1+cosd 4

l1—cos@ 25 9

=—=cosf=——
l+cos@ 16 41
Question3

(5 points)

(3 points)

If f(x)= V3sinx—cosx+2 ,where0 < x < 27, then find the range and the phase shift of 7(x).

CoOSx =

< f(x)=2sin(x+ %) +2

* R=|-|a|+d,|a|+d]=[04]
* Phase shift :

Sx 11z 11x
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